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O¢na B
B1.
L1=['EIITANHXA', 'KTKAAAEY', 'AQAEKANHYA', 'SIIOPAAEX']

L2=['¥KOIIEAOX', 'NAZEOX', 'I6AKH', 'KAPIIAGOX']

print L1[2]
"AQAEKANHYA'

print L2[-3]
'IOAKH'

print L1[1]+L2[1]

'KTKAAAEXNAEOY!

print len(L2)
4
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B2.

class Mathitis:
def __init__(self,am,onoma,vathmos):
self.am=am
self.onoma=onoma
self.vathmos=vathmos
# o)
def tipose(self):
if self.vathmos >= 10:
print "Ilpodyeton”
else:
print "Ilopanéuneton’

#---main---

#B)
mathitis1 = Mathitis(103, "Nwolidov”, 19)
mathitis2 = Mathitis(105, "I'swpylov”, 9)

# )
mathitis1.tipose()

# 9)

sumMathitwn = mathitis1.vathmos + mathitis2.vathmos
print "M.0.:", sumMathitwn / 2.0

B3.

def plithos_A(word):
m=0 #(1)
for letter in word: #(2)
if letter =='A': #(3)
m=m+ 1 #(4), (5)
return m #(6)

Otnal

def ypologismos(arithmosTemaxiwn):
if arithmosTemaxiwn <= 3:
return arithmosTemaxiwn * 120
elif arithmosTemaxiwn <= 6:
return 3 * 120 + (arithmosTemaxiwn - 3) * 100
else:
return 3 * 120 + 3 * 100 + (arithmosTemaxiwn - 6) x 70

esodaKatasthmatos = @
plithosPelatwnOver10 = 0
for costumer in range(50):
arithmosTemaxiwn = int(input("Apwduoc Twv tepaylwy mou ayopdoate: "))
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if arithmosTemaxiwn > 10:
plithosPelatwnOver10 += 1

xrewshPelath = ypologismos(arithmosTemaxiwn)

esodaKatasthmatos += xrewshPelath

n

print "Xpéwon Tou meidtn: ", xrewshPelath

print "Xuvohxd €codo tou xataothuatoc: ", esodaKatasthmatos
print "Ilococté twv meEAatdY TOU aydpacay Ve omd 10 Teudyto:
(plithosPelatwnOver1@ / 50.0) x 100.0

n

O¢pa A

KoD = [1]
VATH = []

1
S

plithosYpopshfiwn
kwdikosYpopshfiou = " "
while kwdikosYpopshfiou != "TEAOX":
kwdikosYpopshfiou = raw_input("Kwowdc vrodmeiov: ")
if kwdikosYpopshfiou != "TEAOX":
KOD . append (kwdikosYpopshfiou)
vathmosYpopshfiou = int(input("Boduoroyio: "))
while vathmosYpopshfiou < 1 or vathmosYpopshfiou > 100:
vathmosYpopshfiou = int(input("Boduoroyio: "))
VATH. append(vathmosYpopshfiou)
plithosYpopshfiwn += 1

sumVathmwn = 0
maxVathmologia = VATH[@]

for vathmos in VATH:
sumVathmwn += vathmos
if vathmos > maxVathmologia:
maxVathmologia = vathmos

print "M.0.: ", sumVathmwn / float(plithosYpopshfiwn)

for i in range(plithosYpopshfiwn):
if VATH[i] == maxVathmologia:
print "Kwdwéc vrodmeiov: ", KOD[i]

file = open("epityxon.txt”, 'w')

j=1
for i in range(plithosYpopshfiwn):
if VATH[i] > 60:
file.write(str(j) + ". " + KOD[i] + "\n")
j=1

file.close()
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